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Instructions for Candidates  
1. Attempt any four questions.  

2. All questions carry equal marks.  

3. Answers may be written either in English or Hindi; but the same medium should be used 

throughout the paper.  

 

1. a) Explain why the money supply might change due to change in the behavior of commercial 

banks and the central bank?  

 

b) “In India, crises have mostly manifested in the form of high levels of NPA’s and their impact on 

the capital adequacy levels of banks”. Compare and contrast the two high bank NPA episodes, 

describing the macroeconomic and institutional differences and similarities across both the periods.  

2. a) “A long call position offers potentially unlimited gains, if the underlying asset’s price rises, but 

a fixed maximum loss if the underlying asset’s price drops to zero”. Explain.  

 

b) What are liquidity aggregates? Mention these aggregates for India as given by the Third Working 

Group?  

3. a) Analyze the impact of asymmetric information on bank’s loan decisions.  

 

b) Suppose that on January 1, 1995 the interest rate on a one-year government bond is 5%, the 

interest rate on a two-year government bond is 6%, and the interest rate on three- 



year government bond is 7%. According to the Expectations theory of the term structure of interest 

rates, what is the expected interest rate on one and two year bonds issued on January 1, 1996? What 

is the expected interest rate on one year bond issued on January1, 1997?  

4. a) Can the central bank choose money aggregate as an intermediate target? Explain the points in 

favor of and against the money aggregate as intermediate target.  

 

b) Why was there a need to move from base rate lending to MCLR system? Discuss the effectiveness 

of MCLR system in improving the transmission effects of monetary policy.  

5. a) What is the Principal-Agent problem in equity contracts? How can it be solved?  

 

b) Discuss the implementations lags and effectiveness lags in monetary policy.  

6. a) “The costs of Basel III will outweigh the benefits in India”. Explain.  

 

b) Explain in detail the Unconventional monetary policy measures taken by RBI when there are 

problems in monetary policy transmission mechanism or if additional monetary stimulus is 

required. 

 



 



 


